a(d cot(d))
5

(0 @) (rad)

1072k

1072

1073

=
S
w

SO I U | PO |0 £ O T

Ratio
=
a1

Ratio

[y

o
)
]

.

1 2 3 3 2 1 0 1 2z 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_CKF _TTbar

—e— DQM_mkKFit_TTbar
—+— DQM_mkFit_TTbar-newTr2

|
W[
N

|
LN
o

=~ 1 —
= : IS
5] (5]
= =
~ ~
< =
> (e
_O/ -
o] 5 10—1 .

1072

107%k=:

SO DU TOU | | R O A T

Ratio
o
!
Ratio
S

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o p/p.)

1074

0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


